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1/ 0:0CORREIFERINLT Vi,

® 0O i Default
.' (3 dancer.local ® 10/05 3:13 PM I+ master
| scala> 1/0
3§ java.lang.ArithmeticException: / by zero
. 28 elided

; scala> |



1/0 &1L 544

» SFENERIN TV RV /ERZEZNANT WS

+ import scala.math
math.tolntExact(Int.MaxValue.toLong + 1)

+ import math.BigDecimal
BigDecimal(“0”).pow(1000000000)

+ def divide(a: List[Int], b: List[Int])
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+ Integer.parselnt(“&”)



> 72IRPL.2: Integer.parselnt(“&”

e “12345”7 — 12345 I A T2 5
Ee . )

b @ i Default

| J dancer.local ® 10/05 3:15 PM ¥ master

N scala> "12345" . toInt
M res2: Int = 12345

d scala> "&".tolnt
ol java.lang.NumberFormatException: For input string: "&" 1
| at java.base/java.lang.NumberFormatException.forInputString(NumberFormatException.java:6 |F
o 5) :
: at java.base/java.lang.Integer.parselInt(Integer.java:652)
at java.base/java.lang.Integer.parselnt(Integer.java:770)
at scala.collection.immutable.StringlLike.toInt(StringlLike.scala:304)
at scala.collection.immutable.StringLike.toInt$(StringlLike.scala:304)
at scala.collection.immutable.StringOps.toInt(StringOps.scala:33)

. 28 elided

| scala> |}
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+ “3.14” .tolnt e F— AhHICEEND

+ “3421” toDouble T —DHABOED
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2+ Source.fromFile(”/../file.txt”)
Linux & Mac 72 A D &

= Source.fromFile(“c:\ \ ..\ file.txt”)
Windows 72 A DX &

+ Source.fromFile(“256 3T LD 7 7 A4 )L « )XA44”)

w B



Source.fromkbile(/../file.txt”) & B D SH44]

* [ R EMNOTANY, BT ANY <« FALDHD
TFE L 72\,

- ® i Default

(& dancer.local ® 10/05 3:29 PM ¥ master

i scala> import scala.io.Source
i import scala.io.Source

i scala> Source.fromFile("/../file.txt")

Y java.io.FileNotFoundException: /../file.txt (No such file or directory)
at java.base/java.io.FilelnputStream.open@(Native Method)
at java.base/java.io.FilelnputStream.open(FileInputStream. java:219)
at java.base/java.io.FilelnputStream.<init>(FileInputStream.java:157)
at scala.io.Source$.fromFile(Source.scala:9%4)
at scala.io.Source$.fromFile(Source.scala:79)
at scala.io.Source$.fromFile(Source.scala:57)

. 28 elided
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Source.fromFile(*/../file.txt”™) & JAML D F4l

+ Source.fromFile(“a.txt/b.txt”)
L TR 77400 7200 Tl AL

+ val root: Tree = ...; parent(root)

+ val LY = ...; get_&(bH B HHY))

w B 2NV DSETIC...
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+ head([]), tail([]) - 22 Y A b DNFE

+ Random.between(5, 3) — between(3, 5)7% 5 Wy F &

+ max(Set.empty) - ZZDEH DN

e Bl 9L 2 g it b F o
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+ zip([1], [2, 3])

+ A:(mxn),veERk+#m)IZHLTAY
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% StackOverflowError — gD L3 X

0O ¥ Default
| = dancer.local © 10/05 4:57 PM I
A (base)

A ® /tmp cat a.scala

A def f(): Int = { 0 + f(Q) }

A O

W(base)

A /tmp scala a.scala |& head

3 Exception in thread "main" java.lang.StackOverflowError
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)
at Main$$anon$1.f(a.scala:1)

W (base)
\® /tmp |
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+ val ints = Range(0, Int.MaxValue).toList

= OutOfMemoryError— X €U DS E D XA,

(& dancer.local ® 10/05 5:06 PM i

& /tmp cat b.scala
val manyInts = Range(@, Int.MaxValue).tolList
y(base)
& /tmp scala b.scala
Exception in thread "main" java.lang.OutOfMemoryError: Java heap space
at scala.collection.mutable.ListBuffer.addAll(ListBuffer.scala:125)
at scala.collection.mutable.ListBuffer$.from(ListBuffer.scala:38)
at scala.collection.immutable.List$.from(List.scala:617)
at scala.collection.IterableOnceOps.toList(IterableOnce.scala:1234)
at scala.collection.IterableOnceOps.toList$(IterableOnce.scala:1234)
at scala.collection.AbstractlIterable.tolList(Iterable.scala:921)
at Main$$anon$1.<init>(b.scala:1)
at Main$.main(b.scala:1)
at Main.main(b.scala)
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+ build.sbt (C
javaOptions in run += “-Xms256M -Xmx2G” O X ) 7%
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BIN T2 FHEET 2R T v 7

+ BN 2 BT %
+ val e = new Illegal ArgumentException(“ & T | & »”)
» PN 2T B

+ throw e

® SO il chEbL v

+ throw new Illegal ArgumentException(“? & T | & \»”)



BN AE DBERI 7221 (1/2)

+ BEIGEADEHEE (1x04 / throws.scala)

+ object Factorial {

}

def f(n: Int): Int=1{ ... }

= Ko 72 R
+* n<0: BHOEUIB\NTT
+ BTHEAE DY Int. MaxValue 28 2 5: NI BIHNTTY




BTN E DBERI 721 (2/2)

+ def factorial(n: Int): Int = {

if (n < 0) throw new Illegal ArgumentException(“t

if(n==0)1

else {
val v=n * factorial(n - 1)
if (v<0)

L DL

throw new Illegal ArgumentException(”“ K & 22035k | ")

A\

}
}

! n)
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% sbt:1x04> runMain Fact
Running (fork) Fact

info]
info]
info]
info]
info]
info
info]
info]
info]
info]
info]
info

factorial

factorial(0) =1

factorial(1) =1

factorial(2) =2

factorial(3) = 6

factorial(4) = 24

factorial(5) = 120

factorial(6) = 720

factorial(7) = 5040

factorial(8) = 40320

factorial(9) = 362880

1(10) = 3628800
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+ sbt:1x04> runMain FactNegative
info] Running (fork) FactNegative
[INfO] ~~~=mm e

info] HIAFFEA L £ L7, --java.lang.lllegal ArgumentException: H DEIIHNTT

info] Factorial$.f(throws.scala:3)

info] Factorial$.factorial$1(throws.scala:15)

info] Factorial$.$anonfun$test$1(throws.scala:17)

info] ExceptionsLab$.g$1(exceptions.scala:30)

info] ExceptionsLab$.h$1(exceptions.scala:31)

info] ExceptionsLab$.test(exceptions.scala:34)

info] Factorial$.test(throws.scala:17)

info] FactNegative$.delayedEndpoint$FactNegative$1(throws.scala:29)
info] FactNegative$delayedInit$body.apply(throws.scala:27)
info] scala.Function0.apply$mcV$sp(Function0.scala:34)
(INfO] ~mmmmmm e e e
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+ sbt:1x04> runMain FactTooLarge
info] Running (fork) FactTooLarge
INfO] ~=~—m e

info] PIAFD3 38 L £ L%, --java.lang.lllegalArgumentException: K Z ZEIMHHNTT

info] Factorial$.f(throws.scala:8)

info] Factorial$.factorial$1(throws.scala:15)

info] Factorial$.$anonfun$test$1(throws.scala:17)

info] ExceptionsLab$.g$1(exceptions.scala:30)

info] ExceptionsLab$.h$1(exceptions.scala:31)

info] ExceptionsLab$.test(exceptions.scala:34)

info] Factorial$.test(throws.scala:17)

info] FactTooLarge$.delayedEndpoint$FactTooLarge$1(throws.scala:33)
info] FactTooLarge$delayedInit$body.apply(throws.scala:32)
info] scala.Function0.apply$mcV$sp(Function0.scala:34)
INfO] ~mmmmmm e e e e
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try { ... } catch { ...

* try {

N & i_gfz,la‘

} catch {

case e: 7+

case e: P72

=> { ]/}

=> { 1|7

( L"

} X

1D & Z DL
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* FEDHIN - 707 7LD7—FELTHESIN TS,

+ MatchError

+ Illegal ArgumentException

+ UnsupportedOperationException
+ java.lang.ArithmeticException

+ java.lang.NumberFormatException
+ java.io.FileNotFoundException

+ java.io.lOException



try { ... } catch { ... } F&LDH(1/4)

+ def try_div(a: Int, b: Int): Int = {
try{a/b
} catch {
case e: ArithmeticException => Int.MaxValue

}
j

+ for (i <- -5 to 5) printIn(s"5 / $i = ${try_div(120, i)}")



try { ... } catch { ... } BEXX DH(2/4)

“+ var number format errors =0

+ def print_number(num: String): Unit = {
try { println(s"$num => ${Integer.parselnt(num)}")
} catch {
case e: NumberFormatException =>
number format errors = number format errors + 1

}
j

+ for (num <- List("1", "Zero", "2", "&")) { print_number(num) }

println(s” AJ] = 7 —%{: $number_format_errors")



try { ... } catch { ... } XX DH(3/4)

+ def try_first_line(path: String): String = {
try { Source.fromFile(path).getLines().take(1).mkString

} catch {
case e: FileNotFoundException => "<<<7 7 A WIZ R 25 ) T XA TL #e>>>"

}
}

+ val filenames = List("trycatch.scala", "Z A% 7 7 4 JWIFTAE L R\,

"throws.scala")

< for (filename <- filenames) {
println(s"$filename => ${try_first_line(filename)}")
J
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» WINZ1E AR val e = new IR (“ A v 2 —7)

« W% FEE T B throw e

« W2 HEH £ 2 DR
try { K602 EPRER 2P

} catch {
case e: MIN1 => { A1 D & & D YL

1
case e: P2 => [ HIN20D & E DULH )
J




